12 #5TE - 840 12 XEERES RT-081

120 WHTE 600 120
35 530 35
79.5 45 45 79.5
43 e s
7 b3 B YU T ()
Y-V 7 (R8) BAVRASR 1=6.8 (A)
A B / 0] ) 55 =
- . b ZAGA4RTZ Ty b
TV IBEIM ‘ 703 By %TT%?@@WJW) %;EJ;&
4 | o
! i P
| 27 Vb2 1=25
‘ 7 T
BLOER (EFREERLA) | AT
FUIHLF ‘ g REH -
o TV t=2 @INT
= |
iR 86 |
! . BB % 285 -
kSR | Wsﬁgma ZIR t=2 @I
i
| B3 Ay FAEY
. |
|- + L
-k b o=l .
L B &RE D5 28R [y — = R
Y t=1.6 | —~J \\\\\‘L/L/ \/::)\1 @ @ \1\\
_ KRNI 525.6 "~ 3.0 |43 1115~ 1
= AR Bo ‘ | -
\ @%mq}& } ”""""’iﬁfﬁ \ ] %W‘H\*?\ﬂ)\*' .
BER Ny 70 W=30 ! T =2 dFmT @ - < TV t=2 @FNLT
TIVIBEFAM ‘ @ ///’/ BRIy R
i |l T3 t=2 @I
2 7I2E fﬁ, BEiht Yy
= Amm7I2EA_©300 WiEh /S— (R =2 Z85D) 27 IU% =25
0 519 BiF AL
w0 —EKY) FOI-F+y T
= 7LIBEHH W=30
fe)
N, RIF YN i
- —HKGT3 A0 (87 U0-IEH R EBREREE) W
a0 ®7Vn- i
o Y » ﬂ "
[ §§
N B E—2 Lf‘BAOEBOXS £&40 L
HMUﬁ/{j (I%iﬁﬂ ° Iﬁtﬁﬁk) [B
CEEMIN: [ ) k\ U
L—65x65x6 (BIi2)
Y=g (Bg) ————
/ \—ﬁm (38)
BAB (BlE) ————
30 #EEOTE 540 30
32 ALC 100 |HEEOTE 600 ALC 100 32
\ 799-5-327 9¢
*E AvF-04%- 1.8¢
U
47 AR =51
- “ . _ PR 1% £ 7 3 — e
T#H FURER S/ h2E-INy 7 SHGL—60x FRiTa - CrEE A . * PR smrsnaUSTyoNRS
< WhEHEBRBE A
® 1 £ ] # - Bk N o o o o g
R 2 5 A T T T T = / 0




